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Subject: English 1* Paper Subject Code: 136 For Dakhil
Number of Assignment Learning Instructions Rubrics Remarks
Assignment QOutcome
Paper 1 This assignment is Students will Fact File: A collection of The teacher will assess students’ work using the

Assignment 4

based on Unit 5 of
EfT

Make a fact file on
the adverse impacts
of environmental
change in your
locality

Total marks = 15

understand the
relation between
human life and
nature

information about a particular
subject or product

To write the assignment students will

1. present some pictures of adverse
impact of environmental change in his
or her own locality.

2. explain the reasons of these
environmental changes.

3. analyse the impact of these changes
e.g. how these changes are affecting
people’s life and ecology

4. how to prevent these adversities.

In writing this assignment learner will
need some pictures. They do not need
to supply with colorful pictures. If
they can, it is good. If they cannot,
newspaper cutting or pictures from
other sources are okay. Mention the
source when you use pictures from
other sources. You can also draw the
pictures.

following lenses/marking criterion. Then she/he
will aggregate the individual marks on each
category for students’ achievement/score on this
assignment.

Presenting problems

3 = Leamner presents multiple (more than one)
problems of his/her own locality with pictures.
2= Learner presents a problem in his area with
picture/s.

0= Learner does not answer this part.

Explaining reasons

4= Learner adequately explains the reason of the
environmental change in his area in almost error
free language.

3 = Learner adequately explains the reason of the
environmental change but there are almost half of
the sentences have grammatical errors.

2=ideas are limited and there are frequent language
ITOrS.

0= learner does not answer this part.

Impact of changes

4= Learner adequately analyses the reasons of the
environmental change in his area in almost error
free language.

3 = Learner adequately analyses the reasons of the
environmental change but there are almost half of
the sentences have grammatical errors.

2=ideas are limited and there are frequent language
CITOrS.

0= learner does not answer this part.

Prevention
4= Learner suggests ways to prevent environmental
change in his area in almost error free language.

G




3 = Learner suggests ways to prevent environmental
change but there are almost half of the sentences
have grammatical errors.

2=ideas are limited and there are frequent language
errors.

0= learner does not answer this part.

Scores for Assignment-4 (out of 15)

Out of 100 Out of 15

80% and above | 12 and above | Excellent

70-79% 11 Very good

50-69% 8-10 Good

Below 50% Below 8 Needs improvement

B
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